. 3. g s & A 3 B F 7 1 R R @ =af o

What are the seven components of Science of Living? Discuss in
detail.

312raT/OR
e R ey falau

Write an essay on Contemplation.

S 59 & He ¥ ifaRuT A t Avesy|
Explain the Environmental balance with special referrence to
Jainism.

317971/ OR

T Pl IR AR W HehreT Sifery|

Throw light on ethical code of conduct of Anuvrat.

AlpdTE &b TTHY Pl FHLET
Explain the Lokvada.

311/ OR
o T WR fewoft fod—/ Write short note (any one)-
(i) f&1 & 9T / Types of Violence
(ii) 9meRTgR / Vegetarianism
*60

(i)
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fder : fordl i el & SR AW gt e & 3 wuE g

Note: Attempt any five questions. Each question carries equal marks.

9. 1. 3T $ TR R YHIA S gU D HG-THG| Pl FHSISY
Throw light on nature of soul while explaining its types and

subtypes.
317971/ OR

U719 F9a R fIER & Uh1er Siferu|

Throw light on five Conomitance {(Samvaya).

. 2. =t 9@l &1 gue ST

Explain the nine categories of Truth.

312raT/OR

HTEPTIR TR 1Y SleTd gV aaa § Sl Tifiiepa1 Rig o

Clarify the relevance of Laymen's code of conduct while explaining

the Shravakachara.

(i) $.9.3./PT.0.



311/ OR
Serdl &AM SARGIRIE! @ TS|

Explain the Social Responsibility of an Enterpreneur.

ISR & R & Gord § Ferdt 6t qfinr P a9y

Explain the role of Entrepreneurs in generation of Employment
opportunities.

317971/ OR
SN o Aqford &t faa ¥ Semt 6t Yfivenr ot wHe |

Explain the role of Enterepreneur in balanced regional
development.

Fraer St & sert 1 i o e
Explain the role of Entrepreneurin Export Promotion

317971/ OR
TR TG TG FRAT3AT T AT TIhIT BHrRIshH! et At H GfHept
DT SIS |
Explain the role of Government organization and institation in the
sucess of Enterpreneurship development programme.

400

(i)
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frder g uel & SR A |t wedl & 3 wuE g |

Note: Attempt all questions. Each question carries equal marks.

¥. 1. 9Rd 7 ST & fort &g 5 ™ w o iR & awengdl

Explain the efforts for development of Entrepreneurship in India.
317971/ OR
ST & fIprT B UAIfId oA dTet Tch! Bl FHSSY |

Explain the factors affecting development of Entrepreneurship in
detail.

U, 2. fodt 72 spe Y T & Ty i deunfres smasaenaran it faaeEr
EAINI
Explain the legal requirements for establishment for a new unit.
317971/ OR
ST § fo1 & Sl Bl THAIgY Td I T Tl @R Bl Seerd
DT

Explain the source of finance in Entrepreneurship and also mention
their advantages and disadvantages.

. 3. Sefig gagR & fasarsi B GHssy |

Explain the characteristics of Enterpreneurial Behaviour.

(i) $.9.3./PT.0.



Y. 5. THEY AN fIfY o FHeISy) S SUGHT Ud el bt quie Hif
Explain standard costing method. Describe its suitability and

advantages.
311/ OR

feagofy &_1- / Shrot note on-
(i) 9T AMYR §9icd / Zero Base Budgeting
(ii) faeRur 1f39AS0r / Variance Analysis

400
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e : fpgl urg wel & SR dficiw 1 It weAt & s TN €

Note : Attempt any five questions. Each question carries equal marks.

9. 1. o d e g | uRared fraret | s ft T Hifre-

From the following information, calculate cash from operating

activity-
Income Statement for the year ended

31st March 2010
Rs. Rs.
Sales 9,00,000
Less : Cost of goods sold 6,20,000
Gross Profit 2,80,000
Less : Office and Admn. Exp. 30,000
Depreciation 25,000
Selling Expenses 30,000
Income Tax 20,000
Goodw ill written off 5,000 1,10,000
Net cash flow from 1,70,000
Operating Activities

Current Asset and Current Liabilities as on
01.04.2009 31.03.2010
Rs. Rs.
Sundry Debtors 20,000 27,000
Sundry Creditors 60,000 45,000
Stock 25,000 20,000
Outstanding Exp. 25,000 22,000
Prepaid Expenses 30,000 40,000

(i) $.9.3./PT.0.



311/ OR
TS oigich ol IR | TAh S2ai, T 3R 13l & AR |
Define the term 'Management Accounting'. Explain its objectives,
advantage and limitations.

iR @t & &1 aR1- / From following information, calculated-
(i) uR=Te SUT / Operating Ratio

(i) hel oY I / Gross profit Ratio

(ii) gK Y9 U / Net profit Ratio

(iv) =T U / Expenses Ratio

2008 2009

Rs. Rs.
Net sales 10,000 1,25,000
Cost of goods sold 70,000 75,000
Gross Profit 30,000 50,000
Selling Expenses 3,000 4,000
Office General Exp. 2,000 3,500
Operating Income/Net Profit 50,000 42,500

311/ OR

FIFTBR IR0 g2 IR Ay S €7 F9FeR fag a9 ot faftr ot e

¥ {9smsUl / Why is the Common size statement prepared? Briefly
explain the method of prepared common size balanced-sheet.

TeReTereh! fAfHes 3 epel IeTg TarT ohl T el & foraepT faishar e
40 %. Tfd oprs a IRad=efie T 16 %. Ufe 3ople 21 Ife sg af &
forg TRft @ 4,80,000 %. aTfiies oI faght Ram AT @1 60 Tfrerd
g Tl SR B &R 40 T A gY FEh IR g% TR bt &R BT 0T
&1 / Everlucky Ltd. manufactures and sells a single product X whose
selling price is Rs. 40 P.U. and the variable cost is Rs. 16 P.U. If the
fixed costs for this year are Rs. 4,80,000 and the annual sales are at

60% margin of safety, calculate the rate of net return on sales,
assuming an income tax level of 40%.

(i)

311/ OR
T AT & {7 e SuTeds §—
A firm gives the following data-

Fixed Expenses Rs. 15,000

Fixed expenses when factory is shut down Rs. 10,000
Additional Expenses in closing down Rs. 1,000
Production at 50% capacity is 5000 units
Contribution per unit is Rs. 1

g AT 3 T PR D FTe] T AT 7 98 IR &1 S|

Advise whether to work the factory or to close it down.

< S gE @ & faeRon dr T Hifre-

Calculate the labour variance from the following iformation-

Standard Wages :
Grade A :90 workers @ Rs. 2 per hour
Grade B : 60 workers @ Rs. 3 per hour

Actual Wages

Grade A :80workers @ Rs. 2.50 per hour
Grade B : 70 workers @ Rs. 2.00 per hour
Budgeted hours 1000 : Actural hour 900
Production 5000 units : Standard loss 20%
Actual Loss 900 units.

311/ OR

e = ught & ST a1 2 SAP ATl vd st o quls
HITT |
What are the objects of budgetory control system? Explain

its advangate and limitations.

(iii)



g, 5. AT TeTEeeT Thigd oRal UGy W oid &t g1 30 S, 2009 @
YT §W aTel a¥ & forg FrfaRad @agRt & sHer ufafseat i
(fora=ur it 3maeaesar T8 &) / Ravi Enterprises operates on integral
system of accounting. You are required to pass the journal Entries

for the following transactions that took place for the year ended
30" June, 2009. (Nattations are not required).

Rs.
Raw material purchased (60% on credit) 5,00,000
Material issued to production 4,00,000
Wages paid (70% direct) 2,00,000
Wages changed to production 1,40,000
Factory overhead incrurred 1,00,000
Factory overhead charged to production 1,40,000
Selling and Distribution overhead Incurred 50,000
Finished goods at cost 5,00,000
Sales (40% credit) 6,50,000
Closing stock - Nil
Receipts from debtors 2,00,000
Payment to creditors 2,00,000

311/ OR
(A) IRETE ST oikdich & a1 29T &7

What are the objects of operating costing?

(B) URgIE ¢ fpenitiicr g arfirioues e fobetiiier o 9 sarsy qen
IIERT AfRd Wﬁ@l / Differentiate between 'Absolute Tonne
km's and commercial tonne km's explain and Illustrate.

(C) T Mty F vep M o1 ST U g § AT T, oM I A 7
How do you measure the proper utilization of a vehicle during

a period? Explain.
* 0

(iv)
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e : gl uig geal & SR difvig ) aft weal & ol v E |
Note : Attempt any five questions. Each question carries equal marks.

g. 1. fFrafaRed gem & vom omrH, v e faftr & smur w |t

ook W@rdT §918U- / From the following information prepare the

stores ledger account on the basis of First in, First out method-

Purchases Issues
August 2010 August 2010
12 6000 Units @ Rs. 12 each 14 3000 Units
13 5000 Units @ Rs. 14 each 16 1250 Units
22 3000 Units @ Rs. 13 each 26 2500 Units

Return from job to stores(SUhR I YUSR & ITa)
August 15 - 500 Imots @ Rs. 12 each.
311/ OR

TR H SN aigich= | a1 VT 8 ? ST & Jffep<ur Uk Uep

fewoft §-

What is cost accounting in India? Give a note on classification of cost.
Y. 2. Uh dREM § o9 4f¥e v, f. gor . §1 S B A F 1w 60 W

Y gue & 9§ 9T 9T R 18 %. g1 aRKfds I T gRT 62

gue, 9. GRT 40 90C TUT AL GRT 28 =0C §| FRAgaR I Aol

CARILGINCAIS I

(i) $.9.3./PT.0.



(i) T &R Ao (ii) PRITTAR Ao

(iii) v TR AT qer (iv) gret Hfias g

There are Three employees A, B and C in a factory. Standard time
allowed to do a job is 60 hours. Hourly rate is Rs. 18 per hour. Actual
time taken A- 62 hrs, B - 40 hrs and C - 28 hrs. Calculate their
wages according to-

(i) Time rate wages (ii) Piece rate system

(iii) Rowan premium planand  (iv) Halsey premium plan

311/ OR
7 R0 | T AR g7 & AT fIeeisur S et
What is labour control? Define analysis of labour cost.
Y(arg) T, T TG BN BT Seded IR Bl GUF 9 N URT goprs

A SR ST g S TR 8-/ Y manufactures stools, chairs &
tables. The material & labour costs, per unit are separated as follows-

Stool Chair Table

Rs. Rs. Rs.
Material cost 60 920 300
wages 80 100 250
Production (Units) 900 150 150

Total factory overhead Rs. 33,000

IR TAB fohed & BHR H BREHT AN H TUET BAT 2
BHREFT JIRSRT F §eT & o7y et Tg T ¢ 1 Tep 39T IR Fgal
F ISR ¢ qAT I FHRATT T B &b S=IR 81/ You are required to

determine the works cost of each type of funiture after assuming
that ontable is equivalent to four stools & two chairs are equivalent

to one table for the purpose of factory overhead allocation.
311/ OR

(i)

goRTS T Uehel SIS ITd FHeriRur Sy oRm 82 1S aTTa ugfr & Seval
3R Iwmt ot ferd | / What is unit or single (output) costing method?
Write down objectives and uses of Unit Costing Method.

U CRAUIC IO T ¢ep geTclt gl A URaTed W FHEa & g
AT FoIc S A1 &1 1 S[ers 2009 F 7 Sels 2009 T St Jrafey
% foTv 59 @b & o 7000 o foparfieR & uRarem & @ied fAeiRa
fepar T 21 3 Sl oxfY < b1 uRarer BRI e TR wftRfed
fopar T %— / A transport company operates a truck. In order to

exercise control over its operation the periodical budgets are
drofted. For the period from 1t July, 2009 to 7 July, 2009 the
budget have laid down the operational targets of 7000 tonne
kilometers forthis truck. During the same period the performance
of the truck has been suported as follows-

Date 2009 Distance covered in Kms Load Carried in tonnes

July 1 300 4
July 2 200 5
July 3 250 3
July 4 100 2
July 5 200 5
July 6 - -
July 7 250 6

9 ¢op & forg SuAfirar arud &t v HifT
Calculate the utilization ratio for this truck.

311/ OR
3BT WIAT T 87 Th S Wl & Ifdc T hise uer § W W arelt
faftsr 9ai o1 & d o HRTTI T Fredf~en SRR AR 0 TR
Pl Tqse HIFTTI / What is a contract account? Discuss in brief the
various items appearing on debit and credit sides of a contract

account. lllustrate your answer by taking an imaginary example.

(iii) $.9.3./PT.0.
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Note : Attempt any five questions. Each question carries equal marks.

U, 1. oo | Y R st €2 URAIST i rases [T aues |

What do you mean by Project? Explain the essential characters of
Project.

312raT/OR
TepTiehl fIIN0T | 3T T TR €2 U UiaAlerT § amagas i
YBR O Arearen & faaas Hif)

What is Financial Analysis? Explain the different techniques
requires in a Project.

g. 2. aRaET Sftad 956 $r fafe srawernatl o1 dag § que Hifom
Explain the different stages in Project life cycle.

312raT/OR
R S e TPt bl faeR & FHssy |

Explain the different types of Project.

U. 3. 3IUERT Ubs TaTg dh-ic &b qgd g TN D g9 |

Explain the importance & applications of Discounted cash flow

technique.

(i) $.9.3./PT.0.



311/ OR
QAHIRTD AN oy f39asur &Y 3mgegedr W o folRau

Write an essay on requirements of social cost-befefit analysis.

9 fafics 3o a9 SdTed TR @ deM & forv v =t 9efie oy
T TTE] 21 7efe B ANt 70,000 . @Rt qor 73 b Sfiae @it
T g% Ahs TATE TH TR §-

Maan Ltd. going to purchase a new machine to increase its existing
production level. The cost of machine will be Rs. 70,000 & cash

inflow of mechine in its life duration will be as follows-

Year 1 2 3 4 5
Cash inflow (Rs.) 50,000 40,000 20,000 10,000 10,000
Tey R UiRa a9 v R 25 ufued arfe g1 @ fafwm
BT 22 MRS FAY R faf & R fdem Hifm
Minimum rate of return by management is determine is 25%

annually. Is investment is desirable? Explain with the help of IRR
method.

Discount factor

Years 1 2 3 4 5

35% 741 549 406 301 223

40% 714 510 364 .260 .186
312raT/OR

TREASTT Haweeh T TS | TSI Hewereh i T a 107 A9engd|

Explain Project Manager. Also explain qualities or skills of Project

Manager.

(i)

g. 5. f gamel & Q uRaioFrst & aoH gea & MM SR qAT 10

TfIeIT 9 &R A 8 GSIE ST fp g A it aRarerna
wfipfer & St 7

From the following information calculate net present value of the
two project. Also give suggestion if there is 10% discounting rate
which project will be approved?

Project - X Project - Y
R fafermT
(Initial Investment) Rs. 20,000 Rs. 30,000
(Estimated life) 5 years 5 years
Jaferse gog
(Scrap Value) Rs. 1,000 Rs. 2,000

TN A g T IR gl g (ehe WaTR) TH UBR g
Profit (cash inflow) before depreciation & after tax is as follows-

Years 1 2 3 4 5
Project X (Rs.) 5,000 10,000 10,000 3,000 2,000

Project Y (Rs.) 20,000 10,000 5,000 3,000 2,000

312raT/OR

RIS e & 9T HRU & 9 58 b X 6T ST HepelT 27 foRga
RAT DI

What are the main reason behind project delays? How we can
prevent there delays? Explain in details.

400

(iii)



ve forfiics & Suerey Eash | B fi snaeae Frifhe goft

U iaTer ges faftr & Hifr-

(1) oA arfies fS8ht 10,000 SHEAT 10 . U FPIS DI R R g |

(2) I T fIhy TIAT Ueh 9 & T a¥—Rid FH s+ <&t & |
TG AN 39 UPR 8-
qamft - 5. - 2% SURTT - 1.75 %.

(3) UTEd! B 60 AT & ford SUR f&m ST & STefe aFeR & 50 fet
& JYR & GaYT Ire &t AT B |

(4) o= A1t B 40 T Hr gfct T T 711 H 15 &7 A gfef wp
¥ <t et R |

(5) STET T 20 T 31 £ 9T UAh ST Ih &b IRET J &
AT 7 R R o S g

(6) Frefier Yoft o1 Ueh fRIgTs T epg & ®9 H A 3Mepfees & forg
T ST &

From the following information taken from X Ltd. Calculate the

working capital required by the company by operating cycle method.

(1) Annual sales are estimated at 10,000 unit @ 10 per unit.

(2) Production and sales quantities concide and will be carried
on evenly throughout the year and the production cost is-

material @ -Rs.5.00, Labour @ -Rs.2.00 & Overheads @-Rs.1.75peruntt.

(3) Customers are given 60 days credit and 50 days credit are
taken from suppliers.

(4) 40 days of supplies of raw material and 15 days supply of
finished goods are kept in stock.

(5) The production cycle is 20 days and all material are issued at
the commencement of each production cycly.

(6) A cash balance equal is one third of the working capital.
* 0
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Note : Attempt any five questions. Each question carries equal marks.

7. 1. Ot 57cT it oRTTW <0 50 e H TP Seed 9 e Anesd|
Define the Capital Budgeting. Specify its characteristics in business.
311/ OR

deft forfice o5 faam Al bt o1 ot ol foaR o= <& 31 Ieey
e Tl 5 eI HRAT ATET 919 Tep foh S7eh! T 3 IS H 9 7 @
S| 97 @ Suemed §- / Urvashi Ltd. thinks to purchase some

specified machine. Management don't want to purchase machine
whenever cost value would received in 3 years.

(i) =M & AW 3,00,000 . / Cost of machine Rs. 3,00,000
(i) = 9efi=T | S fassg smm 4,00,000 .

Sales revenue of hew machine Rs. 4,00,000.
(iii) IRacHelte amre st @ 60 Wferd g1/ Variable cost on sales 60%
(iv) B9 & srfafked Rer @mE 15,000 &. / Fixed cost Rs.15,000.
(v) 999 @1 SiaeidiaT 8 a9 / Life of machine 8 years.
(vi) R &I X 50 HfIT / Tax rate 50%
o= aut o axgett rafdr it et R R gefie it AP 3,00,000
B S RfET B aget $ R s s § o S B g
PHITTI/ Calculate the pay back perod.

(i) $.9.3./PT.0.



U. 2. Sit T AR T 3R TR g, Yo I b IS F SFILRON T el

SRIERE

Define the meaning of cost of capital, and explain the

characteristics & significance of concept of cost of capital.
311/ OR

wg. fofies o faRed o &t smasaemar g, 98 39 foru 9 ufderd

&N R el 1000 FOHH, 500 %. I R Fifid &= &1 fok

il &1 77T et 8 a¥ o a1 fhar STRA | fAiee <t @ e ueR

g T e B-

H Ltd. required additional finance for this it has been decided to
issue 1000 9% debentures of Rs. 500 at par redemable after 8
years. The cost of issue is estimated to be as follows-

(i) T HReE 1.5 Ufyed / Underwritting Commission 1.5%.
(i) el 0.5 Ui / Brokerage 0.5%

(iii) B8 NS =T 10,000 .1 / Printing and other expenses Rs. 1000.
P P HOT-U1 &t PR o G, AN ST DI | TS AR Bl R

35 "ferd g1/ Calculate the after tax cost of debentures assuming
that the corporate tax rate 35%.

Uep R B et ReT, Ooft ST T Ffy SReT e §
TR I i 1 qarsd|
In the enterprise how to different among financial management,
capital management and assest management. Explain

311/ OR
T BH Bl f9eht 75,00,000 ., aRad=eiier d 42,00,000 %.,
TYRIT AT 6,00,000 %., 9 UfGed &S WR k07 45,00,000 . TAT
FHAT Yot 55,00,000 %. g1 ufkared fodia a Sge Sdlerd o 1uET
BTl

(i)

9. 4.

9. 5.

A firm has sale of Rs. 75,00,000, varible cost Rs. 42,00,000, fixed cost
Rs. 6,00,000, debt of interest Rs. 45,00,000 at 9% and equity capital
Rs. 55,00,000 calculate operating financial and combined leverage.

AT VO UG IR0 b Ty ¥ YR BT SrfftRM 1956 &
e TR TP o ford |
Write a note of provisions of the Indian Companies Act 1956 in

respect of dividend.

311/ OR

T RIS Bl IR fAfF—s= 50,000 %. € 997 T99 IR ast |
UL 20,000 ., 15,000 %., 25,000 . TAT 10,000 %. JAHS
STRIATE W6 B &1 a0H e gaobid [afes BT JANT ol gU IRaITad
fafFRINT &1 AT BT Hedih ag TR 10 TR Ak 8T IR | Th
R T AN e 10 AT a7 & JUHT TR a9 o foft 99 909,

826, .751 dUT .683 ¢l

The initial cash outlay of a project is Rs. 50,000 and it generates
cash inflows of Rs. 20,000, 15,000' 25,000 & 10,000 in first year.
Using present at value index method. Appraise profitability of
proposed investment.

Assuming 10% rate of discount. The present value of Rs. 1 at 10%

discount factor for four year is .909, .826, .751, .683.
fewuft foTRau— / Write on short note-

(i) riefieT goft / Working Capital

(i) <mier Sfifr / Dividend Policy

(iii) 999 371 / Bonus Share

(iii) 4 9dH IoF / Net Present Value

3%x4=14

311/ OR

(iii)



9. 3. 9g 7 g 1 3 9O ¥ el SR & e R i ara ®
ameaTRa faftrat ot wmesy) 9o fFuRor & Sgel 6t fdemr &t Hifm

Define discount and rebate along with describing methods ofprice
determination based on cost. Describe the objectives of pricing.

317971/ OR
3IST & T H S i Arefendn qaTgyl $-die & fAfYe TR
TS iU

Describe the significance of E-Commerce in today's age. Explain
the types of E-=Commerce.

U. 4. faog JagT = £7 faopa dagq faftra o Tw=su)

What is Sales Promotion? Explain in detail allmethods of Sales Promotion.
317971/ OR

fewoft $ifsrt- / Comment-

(1) A: 3meY favg dies / Reorder level technique.
(2) Js faectvur depiies / VED technique

(3) ABC fgoesur gepfies / ABC technique

U. 5. SUHGTT FagR D THIfad e dlet 3Mfefeh, AMISh g AAdsi-ies
geepl T guiF Hiforul

Explain the Economic, Social, Psychological factors influencing
consumer behaviour.

317971/ OR

SIUS & YR T 8¢ T 38 U ¥ ¢ S dlet xai i facer
AT

Describe the types of Brand along with Essentials of a good brand.
* 0

(i)
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Note: Attempt all questions. Each question carries equal marks.

g. 1. fwm T 27 v o gomree fSmn @it w1 Srar 27 A &
fafma 3 Hifte faaver @t @1 v i

What is Marketing? Why marketing is called a creative activity? Explain
the exchange and physical distribution functions of Marketing.

317971/ OR
faqur fismor & ART T B fader F_a gV fauue frmr o g
P gTel Tl pl fTe HIfTa

Describe all four elements of Marketing mix along with the

classification of factors affecting Marketing mix.

U, 2. R faufeaexu @ 319 @ 99 €7 IR faufRie<er i e
g IR BT quie BT

What do you understand by Market Segmentation? Describe in

detail the strategies for market segmentation.
317971/ OR
fewoft Hifsu- / Comment -
(i) <mra au= fafer / Cost Plus Method
(i) smférg ufaera oy faf¥r / Expeted Percentage Profit Method
(i) Tver T fafYr / Tender Pricing Method

(i) $.9.3./PT.0.



311/ OR
FreoT+iep &5 & depl R g falRaul

Write a note on public sector Banks.

URA & &g AT S & HE TAT BT W YR Siferd|

Explain the main functions and importance of Regional Rural Banks
in India.

317971/ OR

Jop o Ry P wel b AHER

Explain the Items of Balance sheet.

=1 IR fewutt forRau— / Write short note on following-

(i) <ATfdfes Fof fifer 3rguTa / Statutory Liquidity Ratio

(i) Rord o o rgafua aftreg Sof & & e

Relation between R.B.I. and scheduled Commercial Banks.

317971/ OR

Pro1T TEDPNT Sob i FEEITRN R W SIfeTy|

Explain the main problems of Central Co-operative Bank.

400

(i)
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Note: Attempt all questions. Each question carries equal marks.

. 1. % &t afamr e 96 & aga T et Bl FEE |

Define Bank. Explain importance and functions of Bank.
317971/ OR

Tfére fewoft forRau— / Write short note on-

(i) aIfirsges §/ Commercial Bank

(i) ofid dfShm Fxemi/ Appex Banking Institutions

¥. 2. uR 3T yomett § FuR &g So” T wHEH B JuE BT

Describe the steps taken for the reforms in Indian Banking System.
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Write a note on the Monetary Policy of India.

¥. 3. TR S (Fome) srff-ad 1949 &1 Sfelra-cds Jedieh-
P

Critically examine the Indian Banking (Regulation) Act. 1949.

(i) $.9.3./PT.0.



